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=US 869,539 856,451 13,088
FUgs FUSEIALHA 25 23 490,816 476,210 14,606
EHE Fodg & 490,816 476,210 14,606
FUs FUHFHAEEHE 146,030 138,720 7,310
301 LetEas 146,030 138,720 7,310
05 &-cl-eEEs243 145,030 137,720 7,310
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oolgau= 200,000& »41Q1+23] 16,400
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Ogr& g sl 50,000& »211¢! 10,550
10 HAAHIE &3 1,000 1,000 0
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1,000,000& * 14! 1,000
FUES FAg e 219,289 219,583 A 294
101 1A H] 3,490 3,380 110
04 JIZHMIZE2XNSE = 3,490 3,380 110
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34,9003 221 x50 3,490
201 LEH2HH| 58,299 61,703 A3,404
02 2322l 58,299 61,703 A3,404
OZ232= ¥ HAl 33,714,000& * 14| 33,714
(@Fsi=3.] 15,585,000& * 14| 15,585
OAl £ ZHI| Xl 9,000,000 * 14! 9,000
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01 Al&H| 157,500 127,000 30,500
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150,000,000 * 14! 150,000
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OXt& =Xl 3,416,000 * 14| 3,416
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206 T 2H| 500 1,000 A500
01 M2l 500 1,000 A500
O%AE(H3X) 500,0002*14] 500
405 X+arE S| 12,900 3,450 9,450
01 XYL SEFH S| 2,900 3,450 9,450
OO0l M Z2IE 700,000 *2CH 1,400
O= AL 6,000, 0002 1CH 6,000
OCINg Stoiat 300,002 *1CH 300
OPC 1,300,000 *4CH 5,200
2o AL 12,000 12,000 0
405 X+arE S| 2,000 12,000 0
01 XYL SEFH S| 12,000 12,000 0
O] 12,000,002 *14] 2,000
Sog Al 309,828 309,594 234
208 ARDESAAAY 309,828 309,594 234
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01 Al&| 300,000 300,000 0
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OAl& S TH| 300,000,00024%0.72/100 2,160
Sog T2 Hy| 7,668 7,434 234
101 Q1248 7,668 7,434 234
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OFZ2( MA) U #JFY| 42,60021+1001x92 3,834
OJ2Ze U AZAFY| 42,6008 #2091 452 3,834
2os HY2IAY| 68,895 70,647 A1,752
2og 2yl 58,620 60,297 A1,677
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101 Q124 46,980 49,217 ~2,237
01 B4 46,980 49,217 A2,237
OAZ e 24 7,45721%2191+300A] 2+ 46,980
203 YR =AY 11,640 11,080 560
01 JIBSHAREAY| 6,600 6,000 600
OJB2YLREAY| 6,600,000 *19l 6,600
02 MRS RETY| 840 830 A40
OF IR S| 40,0002 %2121 840
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